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Clues for Logic Puzzle: E820LL

1. Of the rancher and Ida Ingram, one is from Lakota and the other ended up with 9,000 votes.

2. Cate Carlson isn't from Mountain Mesa.

3. Ida Ingram ended up with 8,500 votes.

4. Neither the politician who received 10,000 votes nor the rancher was Jed Jarvis.

5. Of Jed Jarvis and Cate Carlson, one is the academic and the other ended up with 11,000 votes.
6. The person who received 10,500 votes is from Westminster.

7. Dale Donovan, the politician who received 10,000 votes, the rancher and the lawyer were all different
candidates.

8. Bev Baird isn't the architect.
9. The Olema native finished 500 votes ahead of the teacher.
10. The Unionville native finished 1,000 votes ahead of the teacher.

11. Of the Westminster native and the doctor, one was Bev Baird and the other ended up with 9,500 votes.
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